Stock quantities as of 18-Mar-24

Please check in advance as there may be no stock available at the time of

ordering.

*Stock levels are updated at the beginning and middle of each month.

Fluororesin Fitting

Image Model code Stock | Ordering unit
5 F-BA-1 74 1pc.
F-BA-2 69 1pc.
F-BA-3 36 1pc.
F-CP-H2 63 1pc.
‘ "‘\ F-CP-H3 44 1pc.
1 - F-CP-H4 195 1pc.
F-CP-H8 49 1pc.
F-CP-M10 46 1pc.
F-CP-M12 40 1pc.
F-CP-M19 155 1pc.
F-CP-M25 50 1pc.
F-CP-M6 12 1pc.
F-CP-M8 34 1pc.
F-E-H1X10 50 10pcs.
F-E-H2X10 37 10pcs.
F-E-H3X10 48 10pcs.
F-E-H4X10 47 10pcs.
F-E-H8X10 50 10pcs.
F-E-M10X10 46 10pcs.
F-E-M12X10 49 10pcs.
F-E-M19X10 49 10pcs.
F-E-M25X10 50 10pcs.
F-E-M3X10 49 10pcs.
F-E-M4X10 46 10pcs.
F-E-M6X10 37 10pcs.
F-E-M8X10 47 10pcs.
. F-FC-H2-N1 38 1pc.
) ) F-FC-H2-N2 83 1pc.
F-FC-H2-N3 48 1pc.
F-FC-H3-N2 20 1pc.
F-FC-H3-N3 9 1pc.
F-FC-H3-N4 27 1pc.
F-FC-H4-N2 36 1pc.
F-FC-H4-N3 36 1pc.
F-FC-H4-N4 31 1pc.
F-FC-H6-N4 38 1pc.
F-FC-H6-N6 23 1pc.
F-FC-H8-N6 50 1pc.




Image Model code Stock | Ordering unit
F-FC-H8-N8 36 1pc.
F-FC-M10-R2 28 1pc.
F-FC-M10-R3 3 1pc.
F-FC-M10-R4 28 1pc.
F-FC-M12-R2 40 1pc.
F-FC-M12-R3 43 1pc.
F-FC-M12-R4 31 1pc.
F-FC-M19-R4 20 1pc.
F-FC-M19-R6 16 1pc.
F-FC-M25-R6 34 1pc.
F-FC-M25-R8 40 1pc.
F-FC-M6-R1 19 1pc.
F-FC-M6-R2 105 1pc.
F-FC-M6-R3 6 1pc.
F-FC-M8-R1 24 1pc.
F-FC-M8-R2 18 1pc.
F-FC-M8-R3 11 1pc.
F-FE-H2-N1 44 1pc.
F-FE-H2-N2 42 1pc.

‘2 F-FE-H2-N3 50 1pc.
F-FE-H3-N2 50 1pc.
F-FE-H3-N3 48 1pc.
F-FE-H3-N4 48 1pc.
F-FE-H4-N2 46 1pc.
F-FE-H4-N3 23 1pc.
F-FE-H4-N4 40 1pc.
F-FE-H6-N4 49 1pc.
F-FE-H6-N6 50 1pc.
F-FE-H8-N6 50 1pc.
F-FE-H8-N8 50 1pc.
F-FE-M10-R2 40 1pc.
F-FE-M10-R3 43 1pc.
F-FE-M10-R4 48 1pc.
F-FE-M12-R2 26 1pc.
F-FE-M12-R3 38 1pc.
F-FE-M12-R4 50 1pc.
F-FE-M19-R4 42 1pc.
F-FE-M19-R6 49 1pc.
F-FE-M25-R6 48 1pc.
F-FE-M25-R8 37 1pc.
F-FE-M6-R1 40 1pc.
F-FE-M6-R2 21 1pc.
F-FE-M6-R3 38 1pc.
F-FE-M8-R1 7 1pc.
F-FE-M8-R2 37 1pc.
F-FE-M8-R3 49 1pc.




Image Model code Stock | Ordering unit
F-JA-H2/M6-T 36 1pc.
F-JA-H3/M8 52 1pc.
F-JA-H3/M8-T 39 1pc.
o . F-JA-H4/M12 63 1pc.
2 1 F-JA-H6/M19 134 1pc.
i . F-JA-H8/M25 164 1pc.
- - F-JA-M10 88 1pc.
F-JA-M10-T 37 1pc.
F-JC-AP 153 1pc.
—— F-JC-H1/M3 173 1pc.
= 3 F-JC-H2/M6 167 1pc.
R FICAP F-JC-H3 187 1pc.
F-JC-H4/M12 173 1pc.
F-JC-H6/M19 181 1pc.
F-JC-H8/M25 193 1pc.
F-JC-M10 186 1pc.
F-JC-M4 182 1pc.
F-JC-M8 189 1pc.
F-MBT-H2-N1 29 1pc.
\ DR, F-MBT-H2-N2 17 1pc.
W F-MBT-H2-N3 30 1pc.
F-MBT-H3-N2 27 1pc.
F-MBT-H3-N3 24 1pc.
F-MBT-H3-N4 29 1pc.
F-MBT-H4-N2 25 1pc.
F-MBT-H4-N3 26 1pc.
F-MBT-H4-N4 29 1pc.
F-MBT-H6-N4 30 1pc.
F-MBT-H6-N6 18 1pc.
\ 53 F-MBT-H8-N6 30 1pc.
A e F-MBT-H8-N8 30 1pc.
F-MBT-M10-R2 28 1pc.
F-MBT-M10-R3 23 1pc.
F-MBT-M10-R4 30 1pc.
F-MBT-M12-R2 29 1pc.
F-MBT-M12-R3 25 1pc.
F-MBT-M12-R4 14 1pc.
F-MBT-M19-R4 24 1pc.
F-MBT-M19-R6 29 1pc.
F-MBT-M25-R6 30 1pc.
F-MBT-M25-R8 30 1pc.
F-MBT-M6-R1 23 1pc.
F-MBT-M6-R2 23 1pc.
F-MBT-M6-R3 30 1pc.
F-MBT-M8-R1 28 1pc.
F-MBT-M8-R2 30 1pc.




Image Model code Stock | Ordering unit

F-MC-H2-N1 105 1pc.

F-MC-H2-N2 563 1pc.

. F-MC-H2-N3 167 1pc.
R F-MC-H3-N2 174 1pc.
F-MC-H3-N4 15 1pc.

F-MC-H4-N2 48 1pc.

F-MC-H4-N3 171 1pc.

F-MC-H4-N4 546 1pc.

F-MC-H4-N6 128 1pc.

F-MC-H6-N4 21 1pc.

F-MC-H6-N6 265 1pc.

F-MC-H6-N8 49 1pc.

F-MC-H8-N6 94 1pc.

F-MC-H8-N8 35 1pc.

F-MC-M10-R2 454 1pc.

F-MC-M10-R3 377 1pc.

F-MC-M10-R4 213 1pc.

F-MC-M12-R2 148 1pc.

F-MC-M12-R3 546 1pc.

F-MC-M12-R4 1 1pc.

F-MC-M19-R4 157 1pc.

F-MC-M19-R6 93 1pc.

F-MC-M19-R8 3 1pc.

F-MC-M25-R6 12 1pc.

F-MC-M25-R8 4 1pc.

F-MC-M3-R1 24 1pc.

F-MC-M3-R2 29 1pc.

F-MCT-H2-N3 7 1pc.

- F-MCT-H3-N3 26 1pc.
F-MCT-H3-N4 38 1pc.

N F-MCT-H4-N4 15 1pc.
F-MCT-H4-N6 47 1pc.

F-MCT-H6-N6 4 1pc.

F-MCT-H6-N8 50 1pc.

F-MCT-H8-N8 22 1pc.

F-MCT-M10-R3 66 1pc.

F-MCT-M10-R4 38 1pc.

F-MCT-M12-R6 27 1pc.

F-MCT-M19-R8 37 1pc.

F-MCT-M25-R8 13 1pc.




Image Model code Stock | Ordering unit
F-ME-H2-N1 142 1pc.
- F-ME-H2-N2 555 1pc.
\) F-ME-H2-N3 48 1pc.
F-ME-H3-N2 198 1pc.
F-ME-H3-N3 562 1pc.
F-ME-H3-N4 35 1pc.
F-ME-H4-N2 38 1pc.
F-ME-H4-N3 199 1pc.
F-ME-H4-N4 179 1pc.
F-ME-H4-N6 50 1pc.
F-ME-H6-N4 50 1pc.
F-ME-H6-N6 44 1pc.
F-ME-H8-N6 50 1pc.
F-ME-H8-N8 36 1pc.
F-ME-M10-R2 651 1pc.
F-ME-M10-R3 605 1pc.
F-ME-M12-R2 174 1pc.
F-ME-M12-R3 676 1pc.
F-ME-M12-R4 464 1pc.
F-ME-M19-R4 7 1pc.
F-ME-M25-R6 45 1pc.
F-ME-M25-R8 32 1pc.
F-ME-M3-R1 32 1pc.
F-ME-M3-R2 36 1pc.
F-PMU-M10 42 1pc.
: F-PMU-M12 57 1pc.
b F-PMU-M19 189 1pc.
F-PMU-M25 50 1pc.
F-RUE-M10-M6 45 1pc.
\ F-RUE-M10-M8 38 1pc.
_a F-RUE-M12-M10 50 1pc.
F-RUE-M12-M6 40 1pc.
F-RUE-M12-M8 37 1pc.
F-RUE-M19-M10 49 1pc.
F-RUE-M19-M12 41 1pc.
F-RUE-M25-M12 49 1pc.
F-RUE-M25-M19 50 1pc.
F-RUE-M6-M3 46 1pc.




Image Model code Stock | Ordering unit

F-RU-M10-M6 44 1pc.

£ F-RU-M10-M8 129 1pc.
W4 F-RU-M12-M10 28 1pc.
F-RU-M12-M6 27 1pc.

F-RU-M12-M8 36 1pc.

F-RU-M19-M10 43 1pc.

F-RU-M19-M12 42 1pc.

F-RU-M25-M12 47 1pc.

F-RU-M25-M19 30 1pc.

F-RU-M6-M3 56 1pc.

F-RUT-M10-M6-M10 37 1pc.

=Y s F-RUT-M10-M8-M10 42 1pc.
. F-RUT-M12-M10-M12 50 1pc.
F-RUT-M12-M6-M12 24 1pc.

F-RUT-M12-M8-M12 50 1pc.

F-RUT-M19-M10-M19 38 1pc.

F-RUT-M19-M12-M19 38 1pc.

F-RUT-M19-M19-M12 39 1pc.

F-RUT-M25-M19-M25 45 1pc.

F-SP-H2/M6 27 1pc.

/ F-SP-H3/M8/M10 33 1pc.
F-SP-H4/M12 52 1pc.

F-SP-H6/M19 132 1pc.

F-SP-H8/M25 154 1pc.

. F-UEA-H2-TH2S 168 1pc.
L 4 F-UEA-H3-TH3S 161 Tpc.
F-UEA-H4-TH4S 769 1pc.

F-UEA-H8-THS8S 49 1pc.

F-UEA-M10-TH3S 33 1pc.

F-UEA-M12-TH4S 28 1pc.

F-UEA-M19-TH6S 791 1pc.

F-UEA-M25-TH8S 50 1pc.

F-UEA-M6-TH2S 45 1pc.

F-UEA-M8-TH3S 190 1pc.




Image Model code Stock [ Ordering unit
‘ F-UE-M12 163 1pc.
W W g F-UE-M19 163 1pc.
; F-UE-M25 221 1pc.
F-UE-M3 44 1pc.
F-U-M10 73 1pc.
% ) F-U-M12 31 1pc.
\) F-U-M19 625 1pc.
F-U-M25 23 1pc.
F-U-M3 72 1pc.
, F-UT-M10 337 1pc.
3¢ f: F-UT-M12 483 1pc.
< F-UT-M19 722 1pc.
F-UT-M25 20 1pc.
F-UT-M3 145 1pc.
Fluororesin Needle Valve
Image Model code Stock | Ordering unit
— F-JHA-H1 4 1pc.
R F-JHA-H2 37 1pc.
F-JHA-M3 49 1pc.
g F-JHAW-H1 47 1pc.
F-JHAW-H2 6 1pc.
F-JHAW-M3 35 1pc.




